Roll No. vireveeens e

_ 2416
B E (7th Semester) (CSE)
Examination— December, 2013
COMPILER DESIGN
'E' Scheme‘ )
Paper.: CSE405-E

h Time : Three hours] [ MaxiﬁmmMarks : 100

Before answering the questions, candidates should ensure that they -
have been supplied the correct and complete question paper. No
- complaint in this regard, will be entertained after examznatzon

 Note: Attempt any five questions.
1. (a) Briefly describe the following terms :
| (i) Translators
(i) Compilers
(iii) Interpreters

(iv) Assernblers

v) Compiler Construction tools. 5x2=10
(b) Describe the different phases of compiler. 10
2. () WhatisInputBuffering? Explain. 10
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(b) Explain the role of Lexical ‘an;alyzer; 10

3. (a) Devisea me;hanism to con.vért NFA to DFA. | 10 |
(b) Draw the NFA for regular exlpx;essi'on‘ _
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4. (2) What do you mean by a gramumar ? What are its
‘ ’components ? Why does one use context free

- grammars? : ' 10

(b) "Dezfine ambiguous grammar ? Identify the reasons
for ambiguities. Explain with example. 10

5. What are the characteristics of“‘operator grammar ?
How does one construct the | opérator precedence
table? Explain with an example. Also dlscuss the
limitations of operator precedence parser. - 20

6. (a) Whatare viable prefixes ? Describe the prbcess of
parsing the language using LR parsér. 10

(b) Discuss the process of cons_tru'ctirig LR(O) parsing
table. S I 11

7. (a) What do you mean by term "three address code" ?

Enumerate the features of three address code. 10
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(b)

8. | (a)
(b)

(o)

What are the attributes associated with a symbol
table ? Discuss the operations p0551ble with a

symbol table. 10

.List out the main sources of optimization. 6

What do you mean by common subexpression ?
What are the advantages of identifying it. 7

Define dead Code. What are the causes of dead

code? _ ' 7
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